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❆r❜❡✐ts③❡✐t✿ ✺✺ ♠✐♥ ✶✳ ❙❝❤✉❧❛✉❢❣❛❜❡ ❛✉s ❞❡r ▼❛t❤❡♠❛t✐❦ ❋✶✶❆ ✸✵ ❇❊

❍✐❧❢s♠✐tt❡❧✿ ❚❛s❝❤❡♥r❡❝❤♥❡r✱ ▼❡r❦❤✐❧❢❡

❯♥t❡rstr❡✐❝❤❡♥ ❙✐❡ ❊r❣❡❜♥✐ss❡ ✉♥❞ r✉♥❞❡♥ ❙✐❡ ❣❣❢✳ ❛✉❢ ③✇❡✐ ◆❛❝❤❦♦♠♠❛st❡❧❧❡♥✳ ❆♥t✇♦rt❡♥ ❙✐❡ ❛✉❢

❚❡①t❛✉❢❣❛❜❡♥ ✐♥ ❡✐♥❡♠ ❆♥t✇♦rts❛t③ ♠✐t ❇❡③✉❣ ③✉♠ ❙❛❝❤③✉s❛♠♠❡♥❤❛♥❣✳ ❇❡❣rü♥❞❡♥ ❙✐❡ ❛❧❧❡ ■❤r❡ ❙❝❤r✐tt❡

❣❡♥❛✉✱ ③✳❇✳ ❞✉r❝❤ ❘❡❝❤♥✉♥❣❡♥ ♦❞❡r ❦❧❛r ✈❡rstä♥❞❧✐❝❤❡ ❙ät③❡✳ ❆❝❤t❡♥ ❙✐❡ ❛✉❢ ❘❡❝❤ts❝❤r❡✐❜✉♥❣ ✉♥❞ ❡✐♥❡

s❛✉❜❡r❡ ä✉ÿ❡r❡ ❋♦r♠✳

✶✳✶ ❙❦✐③③✐❡r❡♥ ❙✐❡ ❞❡♥ ●r❛♣❤❡♥ ✈♦♥ f(x) =−(x− 1)2(x+ 2)(x− 3) ♠✐t D =❬−3;∞❬✳ ❇❡st✐♠♠❡♥ ❙✐❡ ❛✉❝❤

❞❡♥ ❘❛♥❞✇❡rt ✉♥❞ lim
x→∞

f(x)✳ ✹❇❊

✶✳✷ ❩❡r❧❡❣❡♥ ❙✐❡ ❞❡♥ ❋✉♥❦t✐♦♥st❡r♠ g(x) = x4 − 7x2 + 10 ✈♦❧❧stä♥❞✐❣ ✐♥ ▲✐♥❡❛r❢❛❦t♦r❡♥✳ ✹❇❊

✶✳✸ ◆❡♥♥❡♥ ❙✐❡ ❡✐♥❡♥ ♠ö❣❧✐❝❤❡♥ ❋✉♥❦t✐♦♥st❡r♠ ❡✐♥❡r ❣❛♥③r❛t✐♦♥❛❧❡♥ ❋✉♥❦t✐♦♥ ❞r✐tt❡♥ ●r❛❞❡s✱ ❞❡r❡♥ ●r❛♣❤

♣✉♥❦ts②♠♠❡tr✐s❝❤ ③✉♠ ❯rs♣r✉♥❣ ✐st ✉♥❞ ❞✐❡ x−❆❝❤s❡ ❜❡✐ 3 s❝❤♥❡✐❞❡t✳ ✷❇❊

✷✳✵ ❉❡r ❱❡r❧❛✉❢ ❞❡r ❚❡♠♣❡r❛t✉r T ✭✐♥ ◦C✮ ❡✐♥❡s ❚❛❣❡s ✐♠ ❏❛♥✉❛r ✐♥ ❆❜❤ä♥❣✐❣❦❡✐t ✈♦♥ ❞❡r ❩❡✐t t ✭✐♥ ❙t✉♥❞❡♥

♥❛❝❤ ▼✐tt❡r♥❛❝❤t✮ ✇❡r❞❡ ❜❡s❝❤r✐❡❜❡♥ ❞✉r❝❤✿

T (t) = −0, 01t3 + 0, 3t2 − 2t+ 6, 0 ≤ t ≤ 24

✷✳✶ ❩❡✐❝❤♥❡♥ ❙✐❡ ❞❡♥ ●r❛♣❤❡♥ ✈♦♥ T (t)✳ ❍✐♥✇❡✐s✿ ❚r❛❣❡♥ ❙✐❡ T ❛✉❢ ❞❡r s❡♥❦r❡❝❤t❡♥ ❆❝❤s❡ ✈♦♥ −8◦C ❜✐s

12◦C ✉♥❞ t ❛✉❢ ❞❡r ✇❛❛❣❡r❡❝❤t❡♥ ❆❝❤s❡ ✭1cm ❢ür 2h ✐♥ 2h−❙❝❤r✐tt❡♥✮ ❛✉❢✳ ✸❇❊

✷✳✷ ❇❡r❡❝❤♥❡♥ ❙✐❡ ❞✐❡ ❚❡♠♣❡r❛t✉r ✉♠ ✹ ❯❤r ♥❛❝❤♠✐tt❛❣s✳ ✶❇❊

✷✳✸ ❇❡r❡❝❤♥❡♥ ❙✐❡ ❛❧❧❡ ❩❡✐t♣✉♥❦t❡ ❞❡s ❚❛❣❡s✱ ❛♥ ❞❡♥❡♥ ❞✐❡ ❚❡♠♣❡r❛t✉r 6◦C ❜❡tr✉❣✳ ✹❇❊

✷✳✹ ❇❡st✐♠♠❡♥ ❙✐❡ ❛❧❧❡ ❩❡✐t♣✉♥❦t❡✱ ③✉ ❞❡♥❡♥ ❡s ✇är♠❡r ❛❧s 6◦C ✇❛r✳ ❇❡❣rü♥❞❡♥ ❙✐❡ ✐❤r❡ ❆♥t✇♦rt✳ ✷❇❊

✸✳✵ ■♥ ❡✐♥❡r ❙t✉❞✐❡ ✇✉r❞❡ ❞✐❡ ❯♠✇❡❧t❜❡❧❛st✉♥❣ ❞✉r❝❤ ❡✐♥ ❇r❡✐t❜❛♥❞♣❡st✐③✐❞ ✉♥t❡rs✉❝❤t✳ ❉❛③✉ ✇✉r❞❡ ❛✉❢

✺✵✵ ✈♦♥ ✶✵✵✵ ❣❧❡✐❝❤❛rt✐❣❡♥ ❋❡❧❞❡r♥ ❞❛s P❡st✐③✐❞ ✭P ✮ ❡✐♥❣❡s❡t③t✳ ❆✉❢ ❞❡♥ r❡st❧✐❝❤❡♥ ❋❡❧❞❡r♥ ✇✉r❞❡ ❦❡✐♥

❊✐♥❣r✐✛ ✈♦r❣❡♥♦♠♠❡♥✳ ❆✉❢ ❞❡♥ ❋❡❧❞❡r♥✱ ❛✉❢ ❞❡♥❡♥ ❞❛s P❡st✐③✐❞ ❡✐♥❣❡s❡t③t ✇✉r❞❡✱ ❦❛♠ ❡s ✐♥ 80% ❛❧❧❡r

❋ä❧❧❡ ③✉ ❯♠✇❡❧t❜❡❧❛st✉♥❣ ✭U✮✱ ❛✉❢ ❞❡♥ ✉♥❜❡❤❛♥❞❡❧t❡♥ ❋❡❧❞❡r♥ ✐♥ 10%✳ ❉✐❡ r❡❧❛t✐✈❡♥ ❍ä✉✜❣❦❡✐t❡♥ ✇❡r❞❡♥

❞❛❜❡✐ ❛❧s ❲❛❤rs❝❤❡✐♥❧✐❝❤❦❡✐t❡♥ ✐♥t❡r♣r❡t✐❡rt✳

✸✳✶ ❇❡st✐♠♠❡♥ ❙✐❡ ♠✐t ❡✐♥❡♠ ❇❛✉♠❞✐❛❣r❛♠♠ ❞❡♥ ❊r❣❡❜♥✐sr❛✉♠ ✉♥❞ ❞✐❡ ❲❛❤rs❝❤❡✐♥❧✐❝❤❦❡t✐❡♥ ❛❧❧❡r ❊❧❡✲

♠❡♥t❛r❡r❡✐❣♥✐ss❡✳ ✹❇❊

✸✳✷ ▼✐t ✇❡❧❝❤❡r ❲❛❤rs❝❤❡✐♥❧✐❝❤❦❡✐t tr❡t❡♥ ❛✉❢ ❡✐♥❡♠ ❜❡❧✐❡❜✐❣❡♥ ❋❡❧❞ ❯♠✇❡❧t❜❡❧❛st✉♥❣❡♥ ❛✉❢❄ ●❡❜❡♥ ❙✐❡

❞❛s ❊r❡✐❣♥✐s (E1) ❛✉❝❤ ✐♥ ❛✉❢③ä❤❧❡♥❞❡r ▼❡♥❣❡♥s❝❤r❡✐❜✇❡✐s❡ ❛♥✳ ✷❇❊

✸✳✸ ❊s s❡✐ E2 =
{

PU, PU
}

✳ ●❡❜❡♥ ❙✐❡ E1∪E2 ✐♥ ❛✉❢③ä❤❧❡♥❞❡r ▼❡♥❣❡♥s❝❤r❡✐❜✇❡✐s❡ s♦✇✐❡ ♠ö❣❧✐❝❤st ❡✐♥❢❛❝❤

✐♥ ❲♦rt❡♥ ❛♥✳ ✷❇❊

✸✳✹ ●❡❜❡♥ ❙✐❡ ❡✐♥ ❇❡✐s♣✐❡❧ ❢ür ❡✐♥ ❊r❡✐❣♥✐s E3✱ s♦ ❞❛ss E3 ❊r❡✐❣♥✐s E2 ♥❛❝❤ s✐❝❤ ③✐❡❤t✳ ✶❇❊

✸✳✺ ❩❡✐❣❡♥ ❙✐❡ ♠✐t ❞❡♠ ❙❛t③ ✈♦♥ ❙②❧✈❡st❡r✱ ✐♥❞❡♠ ❙✐❡ Ω = E ∪ E s❝❤r❡✐❜❡♥✱ ❞❛ss P (E) = 1− P (E)✳ ✶❇❊




